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'LVHxR� 

'LVHxDGR� SDUD� WUDEDMR� SHVDGR�� PDWH�
ULDO� VLQWpWLFR�� 0D\RU� UHVLVWHQFLD� D� OD�
DEUDVLyQ� \� FRPRGLGDG� DO� WUDEDMDU�� $OWD�
FDOLGDG�GH�PDWHULDOHV�\�FRVWXUDV� 

 
,QIRUPDFLyQ�7pFQLFD� 

&KDOHFR�JHyORJR�GH�FRQ�GLVHxR�IXQFLR�
QDO�GH�DOWD�UHVLVWHQFLD�\�GXUDELOLGDG� 

7HOD�JDEDUGLQD�����DOJRGyQ�\�����SR�
OLpVWHU� 
&LHUUH�GH�Q\ORQ�D�OD�YLVWD�VHSDUDEOH� 
0~OWLSOHV�EROVLOORV�FRQ�IXHOOH��WDSHWD�\�
FLHUUH�� 

 

&RORUHV��,QWHULRU�1DUDQMD��H[WHULRU�JULV� 

&XLGDGRV� 

'HEH�VHU�LQVSHFFLRQDGR�GH�IRUPD�
IUHFXHQWH�� DQWH� FXDOTXLHU� GHWHULR�
UR��GHEH�VHU�UHHPSOD]DGR�GH�PD�
QHUD�LQPHGLDWD� 
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